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47°

A

ABCD is a parallelogram.
CDE is an isosceles triangle.
Angle DAB is 47",

Work out the size of the angle DEC.
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There are 30 boys and 20 girls in a hall, each holding coins in their hand.

The mean number of coins for the children is 12
The mean number of coins for the boys is 6

Work out the mean number of coins for the girls.
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7 (a) Expand and simplify 3(9x+2) + 7x

(b) Expand and simplify 8(6x +2) - 3(4x - 5)
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8 Afactory requires 9 machines to make a toy every 120 minutes.

Find how many machines would be needed to make a toy every 24 minutes.

_machines
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This wooden frame is made of three planks of wood attached with glue and nails.

12m

9m

The wood will be painted with emulsion paint which takes 90ml of paint per metre of wood.

Calculate the amount of paint needed to cover all the wood.
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10 8 gumbo sweets and 10 raspberry chocolates cost £8.60
9 gumbo sweets and 2 raspberry chocolates cost £6.90

Work out the cost of one gumbo sweet and one raspberry chocolate.

Gumbo sweet £

Raspberry chocolate £
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11 Billy, James and Sam go to the beach to collect sand.
James collects 10% more sand than Billy.
Sam collects 50% more sand than James.

By what percentage is the amount of sand collected by Sam greater than the sand collected by Billy.
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12 Factorise
h? - 81
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13

(2) Simplify 16

-z
(b) Simplify 125 3
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14 The functions f(x) and g(x) are given by the following:
£(x) = 2x
g0 =3x-6

Solve the equation fg(x) = 42
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15 Aschool is analysing the results for 160 students in a spelling test.
The information they find is in the table.

Number of marks
Lowest B
Lower Quartile 13
Median 21
Interquartile Range 16
Range 28

() Use this information to draw a boxplot for the data.

02 4 6 81012141618202224262830323436°
Marks on spelling test
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16

Expand (2 +13)2

Give your answer in the form a + b¥3
where a and b are both integers.
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17 The table shows values for a and b.

a 7 8 9 10

8 1 8 2

b | — | = | —| =

49 | 8 | 81| 25

bis inversely proportional to the square of a

(a) Write an equation for b in terms of a

(b) Find the positive value of a when b= 2
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18  simplify:
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19
The diagram below shows two similar triangles.

66 cm

6cm

x 12cm

The diagram is not drawn accurately.
Find two possible solutions of x.
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20 The table shows some information about the heights of a sample of trees.

Height (h) in m Frequency
0<h<20 10
20<h<40 18
40<h =50 12
50<h=70 4
70<h <100 18

(a) On the grid, draw a histogram for the information in the table.
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(b) Work out an estimate for the number of trees greater than 80 m.
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21 The graph fory = f{x) is shown below

Draw the graph fory = f(x + 1)
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22 Aisacircle with equation y? + x? = m, where m represents a constant.

8 414

Point Tis a point on circle A and has coordinates (—, —)
3003

The equation of the tangent to circle A and point T can be written with the equation:

ya=c-bx

Find the constants a, b and c.

For this question, do not simplify the surd.
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Topic Area

Your Marks

Fractions: Operations with Mixed Numbers

Decimals: Multiply 3-Digit Decimal With 2-Digit Decimal

Factors and Primes: Product of Prime Factors,

Ratio: Find First Amount From 2 Linked Ratios Given Third Amount (non-calc)

Angles: Find Angle In Isosceles Next To Parallelogram

Averages: Finding Mean from Means

Expand/Factorise Linear: Expand and Simplify

Proportion: Inverse Proportion — Worded Question (Integer Answer)

Pythagoras’ Theorem: Painting Pythagorean Triple Wooden Frame

Simultaneous Equations: Worded And Different Coosficients

Repeated Percentages: Two Percentages No Quanities

12

Quadratic Equations: Factorise x” 2 —  (Difference of Two Squaras)

13

Number Indices: Advanced Fraction and Nagative

13

Function Notation: Solve With Composite Functions.

15

Cumulative Frequency: Construct and Interpret Boxplot

16

Surds: Expand Quadratic’ Surds

17

Proportion: Inverse Proportion Formula to the Square From Table OF Values

18

Algebraic Fractions: Simplifying With Two Quadratics (>1)

15

Similarity And Congruence: Similar Triangle in Triangle Multiple Solutions.

20

Histograms: Draw Histogram From Fraquency Table and Interpret

21

Function Notation: Graphic Transformations Of Quadratic flx + 3)

22

Straight-Line Graphs: Find Equation of Circle Tangent With Surds
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mathematics __ ______________________ _________________ _____ ___ |
Overall grade boundaries Max Mark
TMAT  Mathematics (Foundation)

5 4 3 2 1_U
Subject 240 69 136 101 66 31 0
Papers 1F, 2F & 3F

Mathematcs (Higher) Subect 240

—Papes R P8
202 170 138 108 79 50 35 0
Papers 1H. 2H & 3H

TVAT
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1 WorkOut

Give your answer as a mixed number in its simplest form.

Give your answer as a mixed number in its simplest form.
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2 Workout

29.1x3.7
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3 Write 63 as a product of its prime factors.

Write your answer in index form
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4

Students in a school are asked to pick either football, rugby or tennis to play in their lesson.

The number of students who picked football and rugby are in the ratio of 3:2
The number of students who picked rugby and tennis are in the ratio of 8:17

85 students picked tennis.

Work out how many students picked football.

students





